@ -(y+3)(a+4)
® da(y-3)
® (y=3)(a+4)

@ (y+3)(a+4)
@ (y-3)(a-4)
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@ x2+3xy-2y2 = (2x+y) (x - 2y)

@ x(y-1-y+1=(-1)(x-1)

@ ¥ —dx=1x(x-2)°

@ x2-y?-2x+2y=(x+y) (x—y-2)

® 2x+1)°-(x-2%*=0Bx-1)(x+1)
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® x(2x+y) @ 2
@ vy ® 2x+y
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a(3x —2y) + b(2y — 3x)

@ a(x—2y) - 3b(x-2y) @ x(a+b) +y(a+b)
® a(2x - 3y) — b(3y — 2x) @ a(x-y)+bly-x)

® 2x(a-2b) - 3y(2b - a)



@ a® + 2ab + b* = (a + b)?

@ x*+ (a+b)x+ab=(x+a)(x+b)
® a3+ 3a%b + 3ab®> + b* = (a +b)®
@ @ +b* = (a+b) (a® —ab +b?)

® a® - b= (a-b) (a® +ab+ b*)



¥ =2+ ]=(x-[_))?

@ 2 3 3 @ 4 ® 5

@D 1



(x=[_])?

x2—2x—|—|:]

@ 2 3 3 @ 4 ® 5
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8. o -4 & AGEA?

@ (a-2b)° @ (a+ 2b) (a-2b)
® (a+b)(a-4b) @ (a+2)(b-2)
® (a+2b)?



x% = 5x+6 = Q12of o}HA?

O (x-2)(x+3) @ (x-2)(x-1) ® (x-2)(x+1)
@ (x-2)(x-3) ® x+2)(x+1)
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@ 3x+5 @ 3x+7

@D 3x+2

G 2x+7

@ 2x+5



11. oS A 1542 + 11x - 12 & Q1 5E3fstH?

@ (bx-3)(3x+4) @ (5x-3)(3x-4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (Bx+12)(3x-1)
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13. x?y—2xy +3x? = A-Eo) A7

@ xy(x+3y-2) @ (x-y)(x+3y)
@ (2x-y)(x-3y) @ xy(x-3y-2)

® (x-y)(x-2y)



14. 1502 - 149% = 150 + 149 & AYot= ¢ 2 Q3 AFEo| F4-S
1=M?

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a*-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+Db)

® acx® 4 (ad + be)x + bd = (ax + b)(cx + d)



15. x+y= V3, x-y=v2 LDt x? -y + 4x - 4y 9] Zt& 75177

O V6+4v2 @ V6-4+2 ® 2v6+ V2
@ 3vV6-22 B 46 -542



16. 3ax? - 6ax—9a 2 2157} ofd A-29

® 3a @ x-3 ® x+1
@ 3x—-1 G q



17. x2+1x—}—
G 6—(x+a)(x—|—b) olil,a>0 % o, a o] F27

) ® ® @ 2 ® 3
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2 E 0l

2x% — 6xy — 8y

@D (2x—4y)(x+ 2y)
® 2(x-4)(x+1)
® 2(x-2y)?



19. O& 522 —x-15 9 55 25 1=AH?(FE 270)

® 2x+5 @ x-3 ® x+3

@ 2x-5 ® 2x+3
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O x%-
. 5x—6=(x—-2)(x-3)
12x — 4x? = 4x(x - 3)
. _
x?—14x+49 = (x - 7)?
@ 3x2 )
+5x-2=(x-2)3x+1)

® 4a?
— 9b2
(2a — 3b)(2a + 3b)
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@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z



22. o8 % Q5Ra}had § AL

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
® —x2+1=(x+1)(-x-1)
@ x2-Tx+12= (x-2)(x—6)

® 10x% 4+ 23x - 21 = (x4 3)(10x = 7)



23.

© da?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

@ 4ab-1= (2a+1)(2b—-1)

© 00 CRONE
ONORENC) ® A, 0.6

ONGNC)




24. the Al Ao BEQ Q%E?

202+ x—6, x2—4, 3x2-4x-20

@D 2x-3 @ x-5 @ x+2
@ x-4 ® x-2
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25. o

A7}

B x+6

B x-6 @ x-5

@ x+1

@D x-1



26. 2x°+ax+b 2 Q5ESHSH 2x+1)(x+1) o] H} o, a+b S
TotH?

@D -5 @ 5 3 7 @ -4 B 4



27. 3x*+ (3a+16)x—6 = AN oHH (x + b)(3x—2) 7F Hef ofuf,
& a+b o g2

@D -3 2 -1 3 0 @ 2 3B 3



28. x+39°x2—x+a9A5Y W, a 9 F2?

D =12 ® -6 B3 -3 @ 4 B 12



29. a(2a-b) - (b-2a) S Q5-E5|5tH?

® (a—-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @ (a+1)(2a-b)
® a(2a-b)









32.

x(x 4 2)(x +4)(x + 6) + 16
=x(@)x (x+2)(@) + 16

= (x% +6x)(®) + 16

(@) =A =5t

A2 +8A+16 = (A+4)? = (®)?2

@ x+5 @ x+3

@ x2 1+ 6x ® x2+6x+1

® x*+4x+38



33. ta dgEs A ol A2 BF A=Y (Fa>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



34. x®>—4x-A=(x+5)(x—B) 9l A+ B 2 F&2?

D 6 ® 9 A 20 @ 49 B 54
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W74 o] Zol T4l o] 442 B ste] x o] A%et 4
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O (x+1)(x+2) @ (x+1)(x+3) ® (x+1)(x+4)

@ x+1)(x+5 & (x+1)(x+6)



36. 2x%-8xy? = AsEActH?

@ x(x+2y)(x-2y) @ 2x(x+2y)(x-2y)
@ 2(x +2y)(x - 2y) @ 2x(x +2y)(x - )

® 2x(x+y)(x-2y)



+3)2-22x(x+3)+72 7} (x + a) (x + b) (x + ¢) (x + d)
2w, a+b+c+do] F2?
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0]-83510] (x +2)(x + 3)(x — 4)(x - 6) = HIH3HH?

@ x* - 5x% - 20x% + 60x + 144
@ x* 4 5x - 20x% - 60x + 144
® x* +5x% +20x% - 60x — 144
@ x* —5x3 +20x% — 60x + 144

B x* +5x3 —20x2 + 60x — 144






40. o2 A ax—ay-bx+ by s ASTE|5H?

@ (x-y)(a—b) @ (x-y)(a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)



41. x*-10x* + 99 157F obd A2

® x-1 @ x+3 @ x?-1

@ x+9 ® xt-10x24+9



42. x4 5xy +2x -5y — 3 = AFE5fotH?

@ (x+1)(x+5y+3) @ (x-1)(x-5y+3)
® (x-1)(x+5y-13) @ (x-1)(x+5y+3)

® (x+1)(x-5y-3)



Adll 54 o085kl tha F 4 B- 104 9 b= 7-5HH?

A=18x25-18x23, B=212-2x21+1

@ 400 @ 360 3 200 @ 160 ® 40
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. o] T 7tE2] Edo] Zole] go] 80cm o] Wolo] 27t
100cm? & o, 7 7FE9] E2 9] dole] 2HE FshH?
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@D 5cm ® 20em  ® 40ecm @ 60cm B 80cm
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& Q5o B8-S tebd Aolck, [ ] ol Sol2 w2
A e AL

@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)
© (x+y)2+3(x+y) +2°4[ |8 A = 28t}

DO x-1,x-y @ x-1,x+y ® x+1,x-y

@ x+1,x+y ® x, x+vy



46. 2(x+2)2 + (x+2)(3x—1)

(B3x-1)2 =
ab + cd ©) 3+ T (H, a,

c = %)

(ax-i-b)(c)c_,_d) OE] ]IH’

D -1 @ 3 ® 0 @ 2



47. & F 3?2 -y - xy? +ay 9 AFED

@ x-1 @ x+1 ® y+1 @ x+vy ® x-y



Aoyt =2+ P+ - )

@ 15 A 18 @ 20 ®B 24

@ 13
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49. x= o o, x? +3 A%koi ggre 715 I 2H9

5-3V3
130 + 755 130 + 753 130 — 453
o +2 V5 ® +2 V3 ® . V3
130 + 75 V5 120+ 75V3
@ +7‘/_ ® Jri\/_

3 2
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B 843

® 8 ® 14 @ 43

@D 4



